MAT2500-01/04 19S Quiz 3  Print Name (Last, First) |

Show all work, including mental steps, in a clearly organized way that speaks for itself. Use proper mathematical
notation, identifying expressions by their proper symbols (introducing them if necessary), and use EQUAL SIGNS
and arrows when appropriate. Always SIMPLIFY expressions. BOX final short answers. LABEL parts of problem.
Keep answers EXACT (but give decimal approximations for interpretation). Indicate where technology is used and
what type (Maple, GC).
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your responses):
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a) Evaluate r'(¢), r" (1), |r'(1)], ]_")(t) and remember to simplify your results.
b) Evaluate 7( 0), 7'(0 ), 7" (0), T(0) and remember to simplify your results.
c) Evaluate the exact angle 0 in radians between r'(0) and r"(0) and a single decimal place approximation in
degrees. . . N
d) Evaluate the vector w which is the vector projection of r"(0) orthogonal (perpendicular!) to r'(0).

» solution



[ Note: in general for this problem to do dot products of vectors as functions ofz, you have to load the Student Vector
Calculus package either with the Tools Menu, or in line (otherwise the dot product will introduce complex

conjugate overbar notation that won't simplify as a general function of 7, but we don't need general values of t here
| so ignore this):

| > with(Student[ VectorCalculus]) : # not necessary for this quiz
> (1) = (e 1)
| > r(0); ' (2); " (2); ' (2) <" (2); expand(26); simplify( %)




